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Explain why there is no grass in most dense forests
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4. State one structural difference between a cell wall and a cell membrane
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. ceent im o eerlain Kingdom.
B The diagram below shows an organism in a cerlain King,
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(@) Name the Kingdom to which the organisim belongs,
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(b)  State the mode ol nutrition for the organism, (1 mark)
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(b) A{gcount for the shape of the sketch made in (a) above. (2 marks)
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Explain why plants have lower respiratory rates compared to animals, (1 mark)
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(b)  State two situations in plants whcn the rate of respiration rises more than normal.

('DP ;\:;) e (\‘Tv GpnenaXs 2oz Swe® Lov T (2 marks)
_ 3} o qu’. ‘)-\-*u*'l‘/cl\\rr‘“f—J '"bu = ) X
B e R

Explain why most plants growing in water-|

naldeag o

ogged arcas die before attaining maturity. (3 marks)

«n|(",.:. 15"_:'_ 0 ],t".-,-’;-' | & T I s
% .__jj:o‘-"\ |u ‘\}1_. Wt'bkr l. Su\ 5 "-"-‘-?"-" e ey e (Gasnic f

[ BA2Vvie) X2
W cueds \J“fT**"“T**~ W
- fLg ‘._( \f\qm"&—. _, =R DR it ae
A5 A wWPhokg [A4s !

NITENPeT N o t¥icls (g
(\&{\&;C\(& Lkﬂmw e e R P oy B A
) \5 ‘Lt: e-.'\:h.,-.xa-. U Y a2 \ewkz)e

I
AT

Scanned by CamScanner




R

B0

P(S-)&{L‘('r VAT K A @)bw‘ s "l- ¥ ""Q‘ [i‘jl‘ ';'_:'-{"- Pl
...... i ‘w\/ﬁ‘“‘* )/
(b) vhy the dry mass of the cndosperm decreases while that of the embryo increases.
. (2 marks)
Dty Goschin, choeR S8 3= M oo P ie
bose. ol oXi e & T pwide e
D dleron [l i Dol 7. f“ e smirassen dlons shainiia VAT e b
__('SW'“‘:) Bwnbrgo - ot 0 0 T EEE B T e TR
State two characteristic features used to classify members of Class Coniferajes (2 marks)
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Turn over

; 'Ihcdmgram below shows the plan of a pentadactyl limb.
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bW ' urve in a certain Phylum.
. The graph below represents a growth curve in a certain £y
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ases of the human menstrual cycle.

 The illustraPBK Kxoswpsheses Faabitaniod the main phas

//——-;:‘P[J,lh d\
2Ist day

L | luteal phase
~ Follicular phase

Menstruation
28th day

(a)  Name the ﬁrocess (hat takes place around the 14th day. (1 mark)

(b)  Name two hormones produced at the follicular phase. (2 marks)
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(¢)  Under which two conditions would the cycle be interrupted? (2 murks)
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State two reasons why blood reaching the glomerulus is always under high pressure. (2 mark: 5)
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13.

During a clinical laboratory test, some sugar was detected in an individual’s sample of urine,

Name: Lo
(1 mark)

PDF Compressor Free VerSigghciem in the patient;

(@)  the hormone that was
\ skl 5y g\ e
the gland that produces the hormone named in (a) above; (1 mark)

(b)

the disease the individual was likely to be suffering from.

(©)
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rtain protein-digesting enzymes, Sand T.

19.  The graphbelow illustrates the effect of pH on ce
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(@) Name enzymes Sand T,
S /kc (frocs '
Q # (I mark)

DPS;M [ - .'f s . : { ’ ¢

s

. . .
() (i)  Name the part of the alimentary ¢ang] where enzyme T is likel
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. Explain the biological significance of completing a dose of antibiotics.
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State two reasons why females with Tumers” Syndrome are infertile. (2 marks)
(’\I \ R
L s WU 20V, e

()  Define the term “field of view™ as used in microscopy. (1 mark)
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(b) ate two functions of

(2 marks)
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Prolde 4, .00
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(c) Give a reason why il is not advisable 1o use water in cleaning a microscope (1 mark)
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Explain the role of blood capillaries in thermoregulation (2 marks)
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The illustration below shows the effect of hormones on insect growth and development.

PDF Compressor Free Versi 5
Brain
Corpus Neurosecretory
allatum cells

"-'--....__________.___,.._--'

Hormone K

Y T.
Ecdysone %,
hormone :

Process M

NN

Egge Larva Pupa Adult

(a) Name:

(i) the hormone K - i | i .
.- . ot
h_"j'n.‘\-l. \.-lu\:_,- {\l Ve o _\} T\'}
(i1)  gland L that produces ecdysone hormone. - : (1 maitd) -
l‘ { -\
..... Potemae (5%-8)

-

(b)  State the role of ecdysone hormone in the growth and development of insects. (1 mark) - -
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(i)  Account for the rapid increase in size of organ!sms immediately afier moukin
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25.  (a) Complete the table below on the adaptations and functioning of some structures in a

/ dicotyledonous stem. (2 marks)

\ Part Adaptation '
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Explain why the leaf of a sisal plant has a thicl::lan/d shiny cuticle.
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27,

'he diagram below Hustrates 3 set of biological processes in a green plant.
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Lcose

PDEEAMPESSSAPFRES Ve M8 Msaccharide | Hydrolysis
BT

N P
Anacrobje
respiration
Compound Q
(1)  Name:
(1) [)rEE;SSN (1 mark)
I ‘J( Sy \,c Sis .

(i) polysaccharide p
i ! (I mark)
Wsirhy o "

() State two ¢

g ion of compound Q (2 marks)
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(¢)  Stae two en w’ronm ’

(2 marks)
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